
���� �������	
 	� ��
�� �������� ���
� �	
��
� �
��
�
 ������� �����
�� �
���

��
� ������������ ��� �
�� ����
��� �
��� �
������ � ��� !������
"�
�# $	���%� &�
�� !��%
������ $���	
 '���
����

���������� �	 
����� 
�������� ���� ������� ��������� ���� ��� ���� ��� ���� �!"��� ���#��� ���$�%
%���&���� �'!(��� )*+����#� ���,��-

��
& 
����� .�/������%� 0/�� ���� 1'
���� &�2��� 0&� 
�32+%� ���$�%

"������� () *�
� (++,- 
������� �
 
������ �	
� ., ���	%�
 (++,- �������� ,, /	���%�
 (++,

��������

0�	 �	
��
� �
�� �1����� ���� ��
�� �����
�
� %�
 �����
�� �	
 ���� �������
� �����
�� �
 ������� �
���� ���� %��
 ������ ��
�
�

�	�
 ��
��1�2 3
 ��� �����
�� 4���
1� ��� ����� 	� ��� ����� ����
�� 	
 4�� ����- ��� ��
���� �����
�� �
� �
���� ��%���
�����1

�����
 ���
 ��� ������
 4��2 5��
� � �
��6�������	
 �1���� �	 ���
	�� ���� �������	
 �
 ���� 4���
1 �	��� ���
��	
� �
�
����

4���
��
7� �
�	��2 8�����
 ) �
� 9,: 	� ���� ����� ��� �	
��� ��
�
� ,( ������ ���� ����� ������� 
�
��
� �
	� ���� ���


.++ �� �	 �	
� ���
 ,;+ +++ ��2 0��
� ��
� ���
�4��
� �����
�
��� �
 �
�������� ���
 ������ %�����
 �����
�� ���� ������

��
	��� ��� �
�� �
� �����
�� 
����
�� �
 ��� �	��
� �
 ��� ����� �� � 
����� 	� ��� 
������	
 �
 ��� �
	�	
��	
 	� �����
�� %��	�

<++ �� �
� �
 �
�
���� �
 ��� �����
�� �%	�� =++ �2 5��
� ,>>> �
���� �� ��� ���
��
�� �
�� �������	
 �
�
����� ��� ����� 	� �����

����� �
	� ) �	 ,):2 ����������1 ��
�����
� �
� �
���
��� �	
 ��� ����� �
� ��	� ���� ��� �	
��
� �
�� ������
�� � 
���	
�%�1 ���
�

���� �������	
 �
 ��� �����2 ?	�
 �����
�
� �	���� �
� �
���
��� �	 �@��	
� ��� �������	
 ����� �
� �	���%�� �
A��
�� 	� ����� ����

	
 ����������1 ��
�����
� �� ������2 &��� 	
 �
�� �
��� �
� ����
 A	� ��
	��� ��� �
�� �
� �
���
��� �
	� �	�
 �����2

� (++( �������
 ����
�� 82'2 ��� 
����� 
���
���2

'�%$�� �4 �����
��- ���� �������	
- !
�� �������	
- B�
�� �������- C������ �
���

�	 
����
������

����
��� �����
�� D&��,/�� ���,/��� B2E �
� 4����

%1 �	��

 �
� ��4���
� A���� 	� ������� �
����
� �
�

��
�� ���
�
�2 ��
�� ��� �
� 	� ��� ,>)+�� ��� �����
��

4���
1 ��� ���
��� �
	� �
 �
����
��� �	 � ����


�	
������	
 4���
12 �����
�� �
� 
	����1� �
����

�� � ��
1 ���� ������ �
� ��� �����
�� 4���
1 �� 	
�

	� �	��17� �	�� �
	4��%�� 4���
��� �
 ��� 
	
������

����
���2

����	��� �	�� 	� ��� �����
�� ������ �
� ��
��


���
 ��� ����� ��
���� ��
���� � �	
����
�%�� ����6

�����
�
������ �
��� �� � �	������
� ��	
	��� 
���	


��1 ���� �	
��
� 	� �����
�� ������� �� 	� ��%���
����

�
��
���2 �����
�� %��	� <++ � D!<�E �
� �	
�� ������

����� �����
�� �%	�� =++ � D!=�E ������� ��� ����6

��� �
���2 0��
��	
�� ���
� �� � �	
���
1 �
��
���� �	


��� 4���
��
 �	 ����	1 ����	�� �	 �
�
���� ���

�
	�	
��	
 	� 4�� �%	�� =++ � �
 ��� �������2

?����
��� "����
�� 9> D(++(E ,(>F,<)

� G	

���	
��
� ����	
2 0��2� �<;6996996>.69<-

��@� �<;6996(.6=)6.+2

5!,��2 �  ����4 ��
�2��������H��
2
	 D�2 ��������E2

+,=96;).=I+(IJ F ��� �
	
� �����
 � (++( �������
 ����
�� 82'2 ��� 
����� 
���
���2

C33� � + , = 9 6 ; ) . = D + , E + + < + ) 6 )



C
���� ���� �	
 ��
��
�� �
 /	
�����
 �	
�� �
 ���

��
�	� ,>>=F,>>> �
� �
���
��� �
 0�%�� ,2 0��

�����
�
�� �
 �
��� %�����
 /	
�����
 ������� �
�

�	
���
 ������� �� ��� �	 �����
�
� ������
� ����	���

����	
� �
� ��
���� �	
 ��� 4��2 3
 /	
��1� �����
��

�
� ��
��� �
	� ������ �	 ?�%
��
12 0�� /	
�����


A��� ���� ����
 ������� %1 ��
�� ���
� �
	� ������ �	

/	���%�
2 '������ �
	� 8
����
 ������
 ������� 	�

�����
�� ����
 %1 ������� �
��� �
 ��� 
	
���

 /	
��

��� �	���1 �
 ��� ��
�	� /	���%�
F?�%
��
12 ����6

�
�� ������ %1 ��
�� ���
� ���� ������1 %��
 �	
��

�	
� ���
 �
���6�����
�� �����
��� %�� ��� �����
�
��

��� ���
������ �
� �
 ,>>) ��� �
���6�����
�� ����6

�
�� ������
�� %1 �	
���
 4���
� ������� 	%���
�� �

�����
 �
��� ���
 ��	�� ������ %1 ��
�� ���
�2

0�� �
��� �����
�
�����	
 �����	��� ���� ��� ���
��

�	 � ����
 �	
������	
 4���
1� �
� �
 ��� ��
�1

,>>+�� ���
� ��
� 
��	�
� ���� 4���
� ������� ����

�����
���� �	
��
� ������� 	
%	�
� �
� �����
��� ���

�������� 4�� ���� ��� �	���� �����2 0�� 
�������	
 	�

��� 4���
1 ��� %��
 ���
	���� %�� ���
� �� ����� �

����
� �	
 �	
� ����6��������� 4���
� �K�����
�2

&�
�
� ��� ��
�	� ,>>(F,>>=� ����������1 �@��
�6

��
�� ���
� � 
���� �	
��
� �
�� �
 ��
�� ���
��

��
� ��

��� 	�� D����
� �
� 8��������� ,>><E2 0��

�������	
 
������ ��
� �		�� %�� �	��6�����
� ��
�����

�@��
���
�� ��	��� ���� ��� ����6�������	
 �
	����

�
����� �		 ���� � �	
�����1 �	  �����1 ��� ��� 	�

��� �������	
 ����	� �
 �	���
���� 4���
� D8��������

�
� ����
�� ,>>=- ����
� �
� 8��������� (+++E2

C
�����
�
1 �@��
���
�� ���
� � �	
��
� �
�� �


�����
�� �
���� ���� %��
 ��

��� 	�� D8��������

�
� ����
�� ,>>.E2 0�� �	
��
� �
�� ��� �	
��
�����

�
 ��� ���� ��

�
 �� � �
�� ������ �
 � %	��	� �
���

�	
 �	� DB�
��
 �
� 3�����
� ,>>.E� �	��1 �
	�
 ��

��� �	
�6L �1����� %�� ��� �����
�� �� � ��
��� �
�� �


��
�� �
��������� ��
��2 0�� 
������ ��	��� ���� ,>: 	�

��� 4�� %��	� =++ � ��
� �	
��� 	��2 0�� �@��
���
��

��
� 
	� �	��	��� �� %������ �	�� 	� ��� /	
�����


�����
�� K�	�� ��� 4���� %1 ��
�� ���
�2 3
 ���

�����
 	� ,>>;� � /	
�����
 �
��� ��
������
�


D8
2 ������� ��E� 
�K������ ��� 3
������� 	� ��
�
�

"����
�� �	 �
������ �@��
���
�� ���� � ����6���������

�����
�� �
��� �	
 �	
���
 ����	��
�2 0�� �@��
�6

��
�� ��
� ���
��� �
 &����%�
 ,>>; �
� �	
��
���

�
��� ,>>>- ��
�� ��
��1� ��
� �	
������ �	 ���� ���

�
	�	�1�� �
���� ����� ��
� %���� 	
 ��� ���� �1����

�� ��� ��
��� �
�� ���� �	
 ����
��� �	� �
���� �
 ���

8�
�
�� ��� D3�����
 �� ��2� ,>>)E2 � �	��� 	� ���
	@�6

�����1 )++ � 	� �����
�� ��� ������ �
 ��� ����� ����

�
 ���� �
��1���2

�	 �������� ��
 �����
�

6��� ������# ����2�

0�� �
�����
�
1 �@��
���
�� ��
� ��

��� 	��

	
%	�
� ��� /	
�����
 �	�%�
�� ��
�� ���
�
 �
�

������� �
����
 �I� MM������� ��
�	
77 D��6,>>(E �
 ���

��
�	� ;F,= &����%�
 ,>>(2 0�� ������ ��� �K������

���� � ���
 0
��� �
	� ���
��
� 0
��� ?���	
12 0��

��
�����
�
�� 	� ��� �
��� ��� )++ �� �
� �� ���

�	
��
����� �� � <6��
�� �
��� ���� � ���� ���� 	� < �(

�
 ��� �	� ��
�� �
� ��� ���� ��
��� �
� ( �( �
 ���

%	��	� ��
��2 0�� �	
��
� �
�� ��� ������
 �
 �����


�	 � �
�� ������ �
 %	��	� �
��� �	
 �	� DB�
��
 �
�

3�����
� ,>>.E� %�� �� ��� ���� �
 ��
�� ��
��

D,9+< � ,+++ ��(E �
��������� �	�����
 �	 ���	� ���

�
�� �	 %� �	�
� 	
 � 
���
��2 3� ��� � %�
 �����
� 	�

<+ �� �
� ��� ���� 	� ����
���� �����2 0�� �	���

������ 	� ��� �
�� ��� �%	�� ,9+ ��� �
� 
���
��

%�	1�
�1 ��� �������� ���� ������� A	���2 0�� �
��

��� �	�
��� �� � .+� �
��� �
���� �
 �@��
��	
 �����

0�%�� ,

���
 �
���� D/��E ���� �	
 �����
�� ��
��
�� �
 /	
��1 �
	� /	
�����
 ?����
��
7� ����� �
��
�����	
 �	
 C������ ?���

N��
 /	
�����
 �����
� ������� ?	
���
 �����
� �������

!=� !<F= !<� ���
� !=� !<F= !<� ���
�

,>>= ,,2., )2;. <2<> )2(. =299 <2>, .2<, <2>9

,>>; ,<2.. >2+< .2), >2+= ,+2,. ;2,; .2<= =2>9

,>>) >2;+ 92=9 (2>> =2+; ,.2.= )2,9 <2,( )29+

,>>> )2;> 92(; (2;< 929; )2,, .2;. (2+< <29<

� ���
��� �
��� ������
� .+: !=�� <+: !<F= �
� .+: !<�2

,.+ '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



%�����
 ��� �
��� �
� ��� �	��
� �
� � �	��
%�� ���

���� �	 �	����� ��� �����
�� ���� ��
� �	
��� ��
	���

��� �
��2 0�	 ����� �
	� ����� �@��
���
�� �
� ���� �


��� �
��1��� �
 ���� ����
2

0�� ���	
� ��� 	� �@��
���
�� ��
� ��

��� 	��

	
%	�
� ��� /	
�����
 ������� �
����
 MM!�

�


B�
���77 D!B6,>>;E ��
�
� ��� ��
�	� .F,( &����%�


,>>; D�������� �� ��2� ,>>)E2 � ������� �
��� ���� %1

8
2 ������� �� ��� ����2 0�� �
��� ��� �
 )<) �

��
�����
�
�� �
� ��� �	
��
����� �� � <6��
�� �
���

���� � ���� ���� ��
1�
� �
	� ) �( �	 )+ ��(2 0�	

�1��� 	� �
��� �		
�� C	�163�� ) �( �
� /��� ,+ �(�

)+ � �	
� ������� �
� ,9++ �� �������� ��
� ����2 �

���
��
 �
�� ��
�	
 ��� ���� �	 �����
� ��� �
��� 	�

������ �
� A	� 	� ����
 ��
	��� ��� �
��2 0�� �	
��
�

�
�� ��� �	
��
����� �
� �	�
��� ���	
��
� �	 ���

���� �
�
����� �� ��� ��
��� �	
��
� �
�� D�	
�6'E �	


%	��	� �
��� D3�����
 �� ��2� ,>>)E� ����� �� �
 ��� �


��� �	� 4���
12 0�� �
�� ��� � %�
 �����
� 	� <( ���

��	��
 	
 ��� %���� 	� 
������ �
	� ��� 4
�� �
���� �
�

�	��
�� �
 �
�� 	� =2+ �( D?��2 ,E2 0�� �
��� �
�

�
	��%�
� ��
� ���� 	� ;9 �� �����
���� ����� ���

%�
� ��
� ���� 	� (+ �� ������� �	��	����2 0�� �
��

������� �%	�� >+ �� �
 ��
� �
� 
���
�� %�	1�
�1 ���

�������� ���� ������� A	���2 0�� �
�� ��� �	�
��� �� �

.+� �
��� �
���� � ,9 � �	
� �@��
��	
 ����� D?��2 (E

%�����
 ��� �
��� �
� ��� �	��
�2 � �	��
%�� ���

���� �	 �	����� ������
� �
���������2 0	 �
��
� ���� ���

4�� ���� �	
���� ���� ��� �
��� � �����
� ��
�� ����

.+ �� ������ ��� �	�
��� �
 �
	
� 	� ��� �
��

D?��2 (E2 0�	 ����� �
� �
������ �
 ��� �
��1��� 	�

���� ����
2

0�� ���
� ��
��� 	� �@��
���
�� ��
� ��

��� 	��

�
	� (+ /	���%�
 �	 ; &����%�
 ,>>) 	
%	�
� ���

/	
�����
 �	�%�
�� ��
�� ���
�
I������� �
����


MMB�%��77 DB36,>>)E2 0�� 
����
� 	� ��� �
��� �
�

�	�
��
� 	� ��� �
�� ��
� ��� ���� �� �
 ,>>;� %��

� 
�� �
�� 	� �	�
 ��
�� �
��������� �	�����
� ��� ����

�	 ���� �� �	���%�� �	 ��� ��� �
�� 	
 ��� 
���
��

D?��2 .E2 0��� �
�� ��� � %�
 �����
� 	� .) �� %�� ���

?��2 ,2 !
�� ���� ��
�
� ��� ,>>; �@��
���
�� ��

��� 	�� 	
%	�
�

�I� MM!�

�
 B�
���772

?��2 (2 �	�
��
� 	� ��� �
�� �
� ��� �����
� ��
�� �
���� ��� ,9 � �@��
��	
 �����2

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,.,



	� ��� ���� ���� �� ��� �
�� ���� �
 ,>>;2 �
 �
����6

����� �
�� ��� �
���

�� %������ �� ��� �����
 �	 ��
���

���
 ��� 
���� 	
�6����� �
�� ���� ��� ���� ��
�
� ���

,>>; �@��
���
��2 ?	�
 ����� �
	� ���� ��
��1 �
�

�
������ �
 ��� �
��1���2

0�� ���� �@��
���
�� ��
� ��

��� 	�� 	
%	�
� ���

��	����� 
����
�� ������ "I' MM��	���77 D�G6,>>>E

��
�
� ��� ��
�	� ,)F(9 ���	%�
 ,>>>2 0�� 
����
�

	� ��� �
��� �
� �	�
��
� 	� ��� �
�� ��
� ��� ���� ��

�
 ,>>) �
� ��� ���� �
�� ��� ����2 ?	�
 ����� �
	�

���� ��
��1 �
� �
������ �
 ��� �
��1���2

0�� �����
�� ��
� 	%��
��� 
����
 ����� �� ,++F

,9+ �� ��
�
� ��� �@��
���
�� �
 /	���%�
F&����6

%�
 ,>>)2 &�
�
� �
����
� ��� 4�� ��
� �	�
��
��

�
� ��� �
��� ��� �	 %� �	��� 	
 ��� %	��	� �	

����� ��� 4��2 � �	��
� ����� 	� .F.29 �
	�� ���

�		 ��	�� �
� �	 ����� ��� �����
�� ��� ����� ��� �	

�@���� < �
	��2 0�� ������
� �
	����
� �� �
���
��� �


?��2 <2 0�� ��
�� ���
 ������ �
 ��� ����� �
	���� �
�

�
���
���� D�E ��		��
� ��� �
��� �
� ���
���
��

D%E ��� ������
� ������ �
� D�E ��� �������	
 �����

%��	
� �����
�2 3
 ��� �@��
���
�� �
 ���	%�
 ,>>>�

��� �����
�� ��
� �� �%	�� 9+ � ������� �
� ��� 
	�

���� ��%���
�����1 ���
 ������ 	��
 %1 ��� ������ 	


���
	����� %1 ��� �
���2 3� ��� ���4���� �	 	%���


���4���
� ��
��� 	� ��� �
��� ���
 	��
���
� �	 ��	��

�	 ��� ��
����� �
� ��� ����� ��� �	 %� �%	�� 9 �
	�� �	

	%���
 ���4���
� 	��
�
� 	� ��� �
���2

6�6� ���� ���2%���

0	 �������� ��� ���� ����������1 	� ��� �
�� �
 �����

������ ��� �	��
� ��� %��
��� %1 � 9+ �� �

�

���

�
� 4�� ������
� ��
	��� ��� �
�� ��
� �	������� �
 �

?��2 .2 !
�� ���� ��
�
� ��� ,>>) �
� ,>>> �@��
���
�� ��

��� 	�� 	
%	�
� �I� MMB�%��77 �
� "I' MM��	���772

,.( '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



�	��
%�� ���� 9+ �� ������ D�	��
�� �	��
�

����	�E2 0�� ��
��� ��� �����
�� �� �	��� ��
���

�	 ��� 
��
��� ��
�����
� �
� ������ �
 �
��2 �����6

�����1 ��
�����
� ��
� ��������� �
	� ��� 
��%�
� 	�

4�� �����
�� �
	� ��� �	��
� �
� ��� �	��
%�� �
�

����
� ��� ������
� 
���	� �
�	 ���	�
� D�����
� ,>><E2

&�� �	 ��
1 ��
�� �������� 	
�1 � ��%������ 	� ����

����� ��� �����
��2 �%	�� (++F<++ 4�� ��
� ���6

��
�� �
	� %	�� ��� �	��
� �
� ��� �	��
%��2 0��

�	��� 
��%�
 	� 4�� �
 ��� ����� ��� ��������� �
	�

��� �	��� ����� �
� ���
 ������� �
 ��� ������2 0��

��	6������ �	��	�	
	�F���

	� �		�
��� 	� 4� ����

D�� ����E DO�
� ,>;<E ��� ���� �	 ���� ������
 ��	 ����

	� 	%��
����	
� �	��� 
���	
�%�1 ���� �	�� �
	� ���

���� ����
�%���	
2 0��� ���� ������� ���� ��� �������

�
� 
�
�	�� ��� ��	 ������� �
� �������1 �
����
6

��
�� �
� ��� ���� �
� �����
�� 	
 �� ����� �
 	
��
��

�����2 3
 ������	
� ��� ���� ����� �@��� 
������ 	
�1 �� ���

�
��
�1�
� ����
�%���	
� �
� �	
��
�	��2 0�� �� ���� ��

���� �	 �	���
� ��� ������ ����
�%���	
 �
 ���� ���� �


��� �	��
� �
� ��� �	��
%��2 �
��1��� 	� ��
��
��

D�/�'�E DO�
� ,>;<E �� ��
�
���1 ���� �	 �@��	
� ���

�
A��
�� 	� 	
� 	
 �	
� �����	
���� ��
��%��� ��	
 �

�	
��
�	�� 
���	
��2 �/�'� ��� %��
 ���� �	 �	�6

��
� ���
 ������ 	� ��
��� �
� ������ �
 ��� �	��
�

�
� ��� �	��
%��2 �/�'� �
� �� ���� ��
� ��

���

	�� ���
� �6C��� (+++ D�����	��� ,>>>E �
� ����������

D�����	��� ,>>9E2

?��2 <2 G�����
� �
	����
� ���
 ���
� �	
��
� �
�� �
 ������� �����
�� �
���� D�E ��		��
� ��� �
��� �
� ���
���
�- D%E ��� ������
� �����-

D�E ��� �������	
 �����2

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,..



B�
��
 
��
����	
 DO�
� ,>;<E �� ���� �	 ����
�%� ���

������ 	� �	
��
�	�� 	
 �����	
���� ��
��%��� ��	
 �

�	
��
�	�� 
���	
��2 3� �� %1 ��
 ��� �	�� �	��	



��
����	
 �
	����
�� �
� �� �
 ���� ����
 ���� �	

�������� ���
��� �
 ����
 A	� �
� �
�� �
���2

GG6����������1 (+++� ����� �������
�� ���

��B�G0 ����	� D�����
� ,>>(E �	
 �
��
��� ����������1

�@��
���
�� ���� �	��� ���
�� �� ���� �	 ��������

�	������ ����������1 ��
��� �
� ����������1 ��
�����
�2

?	
 � �	
� �������� ����
����	
 	� ��� ��B�G0

����	� �
� ��� ���������� %���
� ��� ��� �����
 D,>>,�

,>>(E� �
	
2 D,>>=E� �����
 �
� ?
1�
 D,>>>E2

6�<� ������/��# ��� ��2�������% ����#  �		����� ,� �2�

?	�
 �����
�
� �	���� �
� �
���
��� �	 �@��	
� ���

�	��
���� ������ 	� %�
 �����
�� �
 ��� �
�� ��	


����������12 0�� ���� ��
� �	������� ��
�
� �	�
 �@��
�6

��
�� ���
� � �	��
%�� �
� � �	��
�� �	��
� 
����
�2

0�
�� �����
�
� %�
 �����
�� ��
� ������ ��
�
� � �	���

	� ,( �����2 0���� �
� �
	���� �
�	 �	�
 �@��
���
���

�
���- � 1��
� � �
�� �
� � ������ �	��
	���� ����

�@��
���
��� �
��2 8������ ��� ����� �� ��
��� �����

���
� �� ��@����
1 �
�	
����	
 	
 ��� ����� �����2 0��

	��
��� 	% ������ �
 ���� ��
� 	� ��� ����
 �� �	 ������ ���

������ 	� %�
 �����
� ��	
 ��� ����������1 	� ��� �
���2

0�� ���� �
	���� �
 �@����� 	� ���
�
������ D�����6

�����E ����� ��	 	
 �	
� ����� �
� ����
 ���� ��� ����

���
2 0�� ���
 �� ������ ��
�
� �	�
 ��
��1�2 ?	
 ��� 	�

��� B��
�FP�
� �	��� DB��
� �
� P�
�� ,>)(E� �����

�� �	��	
�1 ���� �	
 �	�����
� 	� ���
�
������ 
	
6

��� ����� �� �� ���������1 ������� ���� ����
��
����

�
� ��
��
2 P��� ��
�� �����
�
� ������ 	� %�
 �����
�� ��

����� %� �	
�� �	
����
�
� �
����
� %�
 �����
� �� �

����	
 ���� ��
�� ������ 
����
 ���
 � �	
��
�	��� %�� ��

�� �	
����
�� �	
��
�	�� ��
�2

3
 ��� �	��	��
� � ��
	��� ��� ����������1 �
� �� ���

��������� �����2 0�� 
	����	
 �� ���
��� ���� �
�����


��
���
��
� %�
 �����
�� 	� ��� �
�� ����� ���� �
�

������� ���
� ���
	�
����2

6�;� =$�!2���2 �����������2 ,� �2�

0�	6����� ���
�
������ �	���� �
� �	��	
�1 ���� �


����������1 �
��1���� ���
� ����
�� ����� �
� ����


�����
 	
� �
�� D&������
 �� ��2� ,>;;- ?
1�
� ,>>,-

�����
 �
� ?
1�
� ,>>>E2 0�� 4
�� ����� �
 ��� ���
�
��6

���� �	��� 
��
���
�� ��� �����
6���� ��
��
��� ����� ��


������ �	 ��� 
��%�
 	�4�������
��20�� ���	
� �����

�
 ��� �	��� 
��
���
�� ��� %�����
6���� ��
��
��2

6�;��� 
� �2 0�

�� � ���
��
� �	�
�� ��� ���� �
� �
����� ����	��

��1�
� ����
��	
 �	 ��� �����
�
� ������� �
� 1��
� �
	�

����� ���1 	
���
���2 0�� ���� �
� ���� 
���
���

�	

���	
��
� �	 	
� �
�� ���� 	
� ������ �����
� ��
��

�����
�
� %�
 �����
��� D8&�E2 81 ����# �� ��
	�� ���

��������� ����������1 	� ���� � ���
� �
�� # ���� %�


�����
�� 8&2 0�� �	��� ��
 %� �
����
 ��

����# � �� 8&#�� �� � ��

���
� �� � ��+�
�� �
� �� � ��+��� 
��
���
� ���

�����
6 �
� %�����
6���� ��
����	
� 
����������12 0��

4@�� ��
� 	� ��� �	��� ����
�%�� ��� ����������1 �� �


�
��
���� �
� � 8& ������ �@�
����� %1 ��� � ��
�6

����
2 /	�� ���� ���� �	��� �	�� 
	� 
�A��� ��� �
��
6

�1�
� �

	
 ��
����
� %1 ����� ��� ���� ��
� ��
�
����2

0�� �	��� �� ���
��	
� 
	� ������ �	
 �
��
�
�� �%	��

��� �
�����	
 	� ��� ��
�����
�2

6�;�6� 
� �2 06

0�� 
�@� �	��� �	����� 	
 ���
� ��� ������ �� �


�@���
��	
1 ��
��%��2 0��� ����	
 ��� �	�
 �������

�	

���	
��
� �	 ���� 	� ��� �	�
 ������� 
��
���
���

�
 ��� ����2 8�������1� ���
� �
� ��	 ���
	����� ����

��
 %� ��
����� �����
 �	 4� �
�������� ������ �	
 ����

������ 	
 �	 ��� 	
� ������ �� � %��� �
� 4� �	
�
���� �	

��� 	���
 �������2 0�� ���	
� ���
	���� ���
� MMB�%��77

�� ��� %��� �� ��	��
 ��
�2 0��� ���
	��� �
	�����

�
�	
����	
 �%	�� ���
�4��
� �����
�
��� %�����
 ���

%��� ������ �
� ��� ��� 	���
 �������2 �� �	�� �����
6

�
��� %�����
 MMB�%��77 �
� 	���
 ������� �
� �	���%�1

�
���
�4��
�� ���� �	��� �� �����1 �	 ��� ����
 ��
�6

����
� ���
 ��� 4
�� ���
	���2 0�� �
��%��� 	� ���

���	
� ���
	��� �� ���� �� �	�� 
	� ���� �
1���
� �%	��

�����
�
��� %�����
 	���
 �������2 P��� ��� ����


	����	
 �� %��	
�� ���� �	��� ��
 %� ����
�%�� %1

����� � �B�%�� � �� � �� � ��

$�
� >B�%�� �� ��� ����������1 	� MMB�%��77 �
� �� �����

��� �	
�
��� �	 ������ �2 0�� ��
����
� 	� ��� 
�
�	�

��
����	
 �� ��� ���� �� �
 �, �
� ��� ���� �
������	


�	�� ���
��	
� ���	 ����1 �	
 �	��� �(2 ���
 ��	���

������ �
� 8& �
� �����1 �	
�	�
���� ��� ��	 �	����

�
� �	
��������1 �����
�
� %1 �, �
����
� 8& �� �

�	
��
�	�� ��
��%�� �
� �( �
����
� ������ �� � ����	
2

,.< '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



6�"� =����!2���2 �����������2 ,� �2�

$��
�
������ �	���� ���� �	
� ���
 ��	 ������ �
�

��
�
���1 ��
1 ���4���� �	 �������� �
 � ������� B��
�F

P�
� �
����	
�2 P� ��
 �	����
 %���� � �
	@1 %1

�	�� ������
� �
� ������
��

,2 ?�� ��� �
�������� ��
��� �
� �
	�� ���� %1 ������2

(2 ?�� � ���
 ��
�� �	 ���� �
	��2

.2 5�� ��� ��������� �
	� ( �
� ��� �	

���	
��
�

��������� �	��
��
�� ���
���� �� �
��� �	
 ����6

����
� � ���
 ��
�� ��
	�� ��� �
	���2

� 
���
�� �@��
��	
 	� ��� �
���	�� �	���� �� �	

������� ��� 	��
��� %�����
 MMB�%��77 �
� &����� �����

%	�� ���� 8& .) ��2 �� ��
��	
�� ��
���
� ����

�
	����� �	�� �
�	
����	
 �%	�� ��� %�����
6������

��
����	
2 0��� ��
��
�� �	��	
�
� ��� �	����
�

������1 ����
��
�� �
� �	�� ���	 �
����� %�����
6

�
�� ��
��
�� �
� %�����
61��
 ��
��
��2

6�"��� 
� �2 ��

0�� 4
�� ��
��6����� �	��� �� �
 �
��	��� �	 �	���

�,2 8& �� ���� �� � �	
��
�	�� 4@�� ������ �
� ���


�
�	� ������ �� ����
 �� �
 �
��
����� 
��
���
��
� ���

%�����
6������ ��
����	
2

����#�� � �� 8&#���� ���� � �� � ����

���
� ���� � ��+��,�� �� � ��+��(� �
����� � ��+�

���� 
��
���
� ��� %�����
6���� ��
����	
 �����
6���6

��� �� ��� %�����
6������ ��
����	
 �
� ��� �����
6����

��
����	
� 
����������12 0�� ����
��
�1 	� 8& ��	
 ���

����������1 �� ����
 ��� � ��
�����
2

6�"�6� 
� �2 �6

0�� ���	
� ��
��6����� �	��� ���	�� �	
 �����
�
�

%�����
6����F�����
6������ ��
����	
 �����

� %1

���
� ��� ������ �����	
1 �� � 
�
�	� ������2 8& ��

����� �
������ �� � 4@�� ������2 0��� �	��� ��� �	 %�

����
 ���� ���� �
������	
 ��� �	 ���� ���
�� 	�

�	
�	�
��
� %�����
 ������ �
� 8& �����

����#�� � �� 8&#���� ���� � �� � ����

���
�

���� � ��+����� �� � ��+��(��
���� � ��+�
����
/	�� ���� �	��� 8( �����
� �
	� �	��� 8, %1 ���	��
�

�	
 �����
�
� %�����
6���� ��
��
��� �	
 ��� �
��������

�������2 0��� �� �@�
����� %1 �
�����
� � ������6����
6

��
� �
��@ 	
 ��� ��
��
�� 	� ��� %�����
6���� �	�6

�	
�
�2

��� �	���� ��
� ��

��� 	�� %1 ��� ��� 	� �G �	���

�
	�
��2 0�� �G �	��� �� ��
����� �� �
���
� �
��
6

�
�� �
	� ��� ������� 	� �	��
����� ��	
 ��� ����������1

��
�����
�2 3� �������
�� � ������� ��
��	
 	� ���

B��
�FP�
� �	��� DB��
� �
� P�
�� ,>)(E� ����� ��

���� �	 �
��1�� �	
������
�� ����� �
� 4@�� �
� 
�
6

�	� ������� �	���� D��� B��
� �
� P�
� D,>)(E �
�

*	
�� D,>>.E �	
 ��
���
 �������E2

� �	���
��	
 %�����
 ��� �	���� ��� ��

��� 	��

%1 ��� ��� 	� �3G D������� �
�	
����	
 �
���
�	
E

���������� D*	
��� ,>>.E2 0�� �3G ���������� �
� ���� �	

�	���
� MM�	�����
�77 �	����� �
� ���	�
 ��� �	���

���� ��� �	���� �3G �����2

�	 �������

<��� �����  ���

0����� ����� �
� �
������ �
 ��� �
��1��� �
 ����

����
2 0�� ����� ����� ��
1 �
	� ���� ���
 .++ �	

,;+ +++ �� D0�%�� (E2 &�
�
� ��� ,>>( �@��
���
���

� %�
 �����
� 	� <+ �� ��� ����� ��
�
� ��� ,>>;

�@��
���
�� ��� %�
 �����
� ��� <( ��� �
� �	
 ��� 
���

	� ��� �@��
���
�� ��� %�
 �����
� ��� .) ��2 0��

�
	�	
��	
 	� 4�� 
����
�� �
 ��� �	��
%�� �
� 4��

������ �
 ��� �	��
� ��
��� %�����
 ����� �
	� ����

���
 ): �	 
��
�1 9+:2 3
 �	���� ,>2): 	� ��� �����
��

������ ��
	��� ��� �
�� �
� ��
� �	
��� 	�� D0�%�� (E2

0�� 
������� ��
��� ����
�%���	
 �
 ��� �	��� �������

�	
 ���� ��
��1 �����
�� ��
����1 D?��2 9E2 0�� ���


��
��� �
 ��� �	��� ����� �	
 ���� ��
��1 ��
��� �
	�

.<2>( �	 .;2<= �� D0�%�� .E2 0�� ���
 ��
����

%�����
 ��� �	�
 �
����� ��
� ���
�4��
��1 �����
�
�

D�/�'�� 0�%�� .E2 ���
�4��
� �����
�
��� �
 ���


����� 	� ��� ��
��� ����
�%���	
 %�����
 ��� �
�����

��� �	�
�� �@���� %�����
 ��� ,>>( D��6,>>(E �
�

��� ,>>) DB36,>>)E �@��
���
�� D0���1 $�& �����

0�%�� .E2

&����
�
��� �
 ���
 ������� 	� ��� �����
�� ������

�
 ��� �	��
� �
� �
 ��� �	��
%�� ��
� ������� �
�

���
�4��
� �����
�
��� %�����
 ���� ��
� �	�
� �


���
1 ���� D�/�'�� 0�%�� <E2 0�� �����
�� ������ �


��� �	��
� ��� ���
 ������� �
	� 9(2. �	 ,+;2= �

�	
� ���
 ��� ���
 ������ �
 ��� �	��
%��2 �%�	����

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,.9



������ �
�K��
�1 �	
 ���� ���� �� �
���
��� �
 ?��2 =2

0�� 4��
�� ����
�1 ��	� ���� ��� �
��� �	
��� 	��

������
 �
���������2 ���
�4��
� �����
�
��� %�����


��� ������ ����
�%���	
� ��
� �	�
� �
 ���
1 ����

D�� ����� 0�%�� <E2

0�� �
	�	
��	
 	� �����
�� ���� ���
 <++ � D!<�E

��� 
������ �
 ��� ����� D0�%�� 9E2 0�� 
������	


��
��� �
	� .29 �	 ,<2.:2 ?	
 ��� �
	�	
��	
 	�

�����
�� %�����
 <++ �
� =++ � ���
� ��� � ���
����

�
 �	�� ����� �
� �
 �
�
���� �
 	���
 �����2 3
 ���

0�%�� (

C	����	
� 	��
���	
 �
� ����� ���� �	
 ��� �
��� �����	
� ���� �
 ��� �
��1���

$���


��%�


&��� ���
� �
����
� &����

D����	��E

���
�

����

0	��
�

����

8�
 �����
�

D��E

G���� ���� D��E �	
���

	�� D:E
C	����	
 C	����	
 G	��
� G	��
%��

��, ,9 &����%�
 ,>>( =+�<,�/ .�,+�� ,<( +;�(9 ( � ++ ��
 <+ 9++++ <9++ )2.

��( ,9 &����%�
 ,>>( =+�<.�/ .�=�� ,.( ,(�++ ( � (+ ��
 <+ ,+++++ ,=+++ ,.2)

!B, < &����%�
 ,>>; 9>�.;�/ .�,>�� ,<+ � ,(�9+ + � <9 ��
 <( ,9+++ ,<+++ <)2.

!B( 9 &����%�
 ,>>; 9>�<+�/ .�(+�� � � + � <9 ��
 <( <9+++ .++++ <+2+

B8, (. /	���%�
 ,>>) =+�,.�/ .�;�� ;+ ,+�++ , � <+ ��
 .) ;9+++ ,<+++ ,92;

B8( .+ /	���%�
 ,>>) =+�(+�/ (�<;�� <> ,,�<9 ( � ,9 ��
 .) ,9;+++ ,.+++ ;2=

B8. 9 &����%�
 ,>>) =+�>�/ (�<<�� 9< ,<�,+ , � (+ ��
 .) =;+++ ,)+++ (,2(

B8< 9 /	���%�
 ,>>) =+�,,�/ (�99�� =+ ((�9) , � ,9 ��
 .) ,+=+++ <<+++ (>2.

�G, (+ ���	%�
 ,>>> =+�,�/ <�,=�� ,++ � ,=�+9 ( � ++ ��
 .) ,++++ ,9++ ,.2+

�G( (. ���	%�
 ,>>> =+�()�/ ,�9)�� << � ,>�.+ , � ++ ��
 .) ,() ,.< 9,2,

�G. (9 ���	%�
 ,>>> 9>�<>�/ <�(.�� =< � (+2<9 , � ,9 ��
 .) ,+++ ,+++ 9+2+

�G< (9 ���	%�
 ,>>> 9>�)�/ <�>�� <+ ,,�.+ , � .+ ��
 .) (=+++ 9+++ ,=2,

0	��� =9(,() ,=,,.< ,>2)

� �����
� ����2

?��2 92 "������� ��
��� �
�K��
�1 �	
 ��� �	��� ����� �	
 ���� ��
��12

,.= '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



0�%�� .

���
 ��
���� �
� �����
� %�����
 ���
 ��
���� �	
 ���� ��
��1

&��� ���


��
���

���
��
�

�������	


/��%�


�����
��

�/�'� 0���1 $�& ����- �
	%�%������� �	
 �	�� �	� �����

��6,>>( !B6,>>; B36,>>) �G6,>>>

��6,>>( .<2>( .2(. ;>> ��6,>>( � � +�+9 � � +�>>; � � +�+9

!B6,>>; .;2<= (2=> ,+.) ��.� =99+� � (><�=> !B6,>>; � � +�+9 � � +�+9 � � +�+9

B86,>>) .<2>+ .2,= (;9> B36,>>) � � +�>>; � � +�+9 � � +�+9

�G6,>>> .=2;= (2<) ,>9) � � +�+9 �G6,>>> � � +�+9 � � +�+9 � � +�+9

0	��� .92)= .2,+ =99<

0�%�� <

0����
� �	
 �����
�
�� �
 ���
 ������ %�����
 �	��
� �
� �	��
%�� D�/�'�E �
� ��	6������ �� ���� %�����
 ������ ����
�%���	
 �


�	��
%�� �
� �	��
�

&��� G	��
� G	��
%�� &����
�
�� �/�'� �� ����

P����� � �2&2 P����� � �2&2 �
��1��� �6'���� �� �6'����

��,6,>>( .>(2,) ,>; ,+>2=. ..92.+ (++ >=2,= 9=2> ��,� .>9� � .+�(. Q+2+9 +2((; Q+2+9

��(6,>>( <=(2;, ,>> ,,.29) .>,29+ (++ >+2>; ;,2( ��,� .>;� � <;�), Q+2+9 +2(>) Q+2+9

!B,6,>>; <=<2>) .,; ,+;2<= <,(2=; (9, >92(= 9(2. ��,� 9==� � .=�=; Q+2+9 +2(,( Q+2+9

!B(6,>>; 9=;2>) ((. ,,<2)< <>;2<, (<; ,+;2,= ;+2= ��,� <=)� � <;�<> Q+2+9 +2()+ Q+2+9

B8,6,>>) .)92,( .=; ,,>2<, .<(2>( .=. ),29; <(2( ��,� ;()� � .,�+( Q+2+9 +2(,. Q+2+9

B8(6,>>) <;<2<+ .=) ,+=2,; .;)2>, .., >+2=> >929 ��,� =>;� � ,=,�== Q+2+9 +2.)< Q+2+9

B8.6,>>) .)=2<, .=( ,,92>( .,=2)> <<< >92>, =>29 ��,� )+<� � )=�)+ Q+2+9 +2(9. Q+2+9

B8<6,>>) <;)2,, (<< ,,92<. .)<2=< ()+ ,,;2+< >.29 ��,� 9((� � )<�(. Q+2+9 +2.;, Q+2+9

�G,6,>>> <9.2<; (.. ,,+29; .))2;; .,; ==2(= =<2; ��,� 9<)� � ;(�>9 Q+2+9 +2.+= Q+2+9

�G(6,>>> 99.2)9 (., >,2=) <<=2(9 .+, ))2)( ,+;2= ��,� 9.+� � ,)=�9< Q+2+9 +2<); Q+2+9

�G.6,>>> 9.;2.) (9( ,+>2<) <.>2+. (=> >.2,; >)2< ��,� 9,>� � ,((�<. Q+2+9 +2<,. Q+2+9

�G<6,>>> 9.<2). ,;) ,++2(= <.,2=, ,;< ,+<2>= ,+.2( ��,� .9+� � )>�+< Q+2+9 +2<.; Q+2+9

0�%�� 9

���� ����
�%���	
 �
 �	��� ������� D�K���� 4���
� ����	�� �
��E� �
 ��� �	��
� ������� D�K���� ���
� �
��E �
� �
�
����� �
 �
�	�� ���
 ���
�

��� �
�� �1���� ���
� ,>>> �
���� �� ��� ���
��
� D0�%�� ,E

&��� 0	��� ����� G	��
� ����� &����
�
�� 3
�
���� �


�
�	�� D:E
!<� !<F= !=� !<� !<F= !=� !<� !<F= !=�

��,6,>>( 9.2< <+2; =2+ <,2> <)2< >2= �,,29 ;2; .2= ,,2,<

��(6,>>( (;2+ =(2) ,+2( ,;2, =<2; ,)2( �>2> ,2> )2+ ,.2>(

!B,6,>>; (.2) =.2+ ,.2( ,)2( =.2, ,)2= �92= +2, 92< )2.)

!B(6,>>; =2. 9.2) .>2> (2) <<2< 9(2) �.29 �>2< ,(2> ,,2=(

B8,6,>>) 9(2+ <.2, <2> <,2( 9+2) ;2> �,+2) ;2; .2+ ,+2,(

B8(6,>>) (;2< =+2> ,,2= ,<2, =;2< ,)29 �,.2. =29 =2> ,<2+;

B8.6,>>) 9;29 .=29 =2+ <.2( <)2+ )2> �,<2. ,,29 (2> ,(2..

B8<6,>>) (;2> 9=29 ,92= ,.2> =92, (+2> �,<2+ )2= 92. ,,2)+

�G,6,>>> .)29 9(2> )2; (=2, 9=2> ,;2+ �,(2< <2+ )2. ,=2<<

�G(6,>>> ,,2; =(2, (=2( (2. 992> <,2) �>2< �=2( ,92= ,)2++

�G.6,>>> ,929 =+2( (<2. ;2( 9=2( .=2= �)2. �<2+ ,(2. ,<2>)

�G<6,>>> ,;29 992= (=2> 92. 9;2; .;2+ �,(2( (2, ,+2, ,<2+=

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,.;



����� ���
� ��
� �
 �
�
���� 	� %�����
 (2> �
� ,92=:

�
 ��� �
	�	
��	
 	� �����
�� ��
��
 ���
 =++ � D!=�E2

3
�
���� �
 �
�	�� D:E ��� ���������� �� �
�
����

���
 ���
� ��� ���� ����
�%���	
 ������ �
 ��� �	��
�

�	���
�� �	 ��� ���� ����
�%���	
 �
 ��� �	��� ����� 	


��� ���� ��	�
� 	� �����
��� �
� ���
� ��� ���


�
���� ���� �	
 ��
��
�� %1 �	
���
 ������� �
 /	
��1

�
 ,>>> �� ��� ���
��
� D0�%�� ,E2 0�� �
�
���� �


�
�	�� ��
 ���� ���
 ���
� ��� �
�� �1���� ��
���

%�����
 )2.) �
� ,):2

?��2 =2 D�F�E �%�	���� ������ ����
�%���	
 �	
 �����
�� ������ �
 ��� �	��
%�� �
� ��� �	��
� �	
 ���� ����2 0�� %
	��
 ��
� �� ��� �	��
%��-

��� �	��� ��
� ��� �	��
�2

,.) '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



<�6� &�2�������% ����2�� �� ,� �2�

B	������ ����������1 ��
��� ��
� 4���� �	
 ��� �����

���
� ��� ��B�G0 ����	�2 ����������1 ��
�����
�

��
� ��������� �	
 ���� ����� �
� ���
 ��
�����
�

�	
 ���� ��
��1 ��
� ��������� D0�%�� =E2 ����������1

��
��� �
�����
� ��� ��������� ���
 ��
��� �
� �
�6

��
��� �
 ?��2 ;2 �
� ���� DB8,6,>>)E ��� ������ �	

%� �
 	�����
 �
� ��� �@������ �
	� ��� ��%��K��
�

�
��1���2

0�� 
������	
 	� ��� �	���� ��	��� ��� �
��
�����

�	 %� ���
�4��
� %	�� �	
 ��� 9+: 
���
��	
 ��
���

?��2 =2 D�������� E2

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,.>



DB9+E �
� ��� �������	
 
�
�� D�"E �
 �	��� �, �
�

8,2 3
 �	��� 8(� 	
�1 ��� �
��
���� B9+ ��� ���
�46

��
� �
� �" � )�;. D0�%�� ;E2 ��� ��� ���������

�	���� �
� �
���
��� �������1 �
 ?��2 )2

3
 �	��� �(� MMB377 ��� ���� �� ��� %��� ���


��������
� �	
�
���� D0�%�� )E2 /	 ���
�4��
� ���6

��
�
��� �
 �" ���
� �	�
� %�����
 �
1 	� ���

�@��
���
��2 3
 B9+� 
	 ���
�4��
� �����
�
��� ��
�

�	�
� %�����
 ��� B3 �@��
���
� �
� ��� MM��77 �@��6


���
�2 ?	
 ��� �G �@��
���
�� �
 B9+ 	� .<2.,

�.+�(. � <�,)� ��� ���������� �
� �	
 ��� MM!B77

�@��
���
�� ���
� ��� ��������� �
 B9+ 	� .;2).

�.+�(. � ;�=+�2 �������	
 ��
��� �
� �
���
��� �


?��2 )2 0�� �3G �	
 �	��� �( ��� ��������� �	 %�

>92,=2

<�<� �����!��?�! ���� ��� ��2�������%

B�
��
 
��
����	
� ��
� ���� �	 ���� ������
 ���

����������1 ��
�����
� �
� ��� ��
��
���� �	
��� 	�� 	�

�����
�� ��
� �
A��
��� %1 ��� ���� 	� ��� �����

D0�%�� >� ?��2 >E2 /	 ���
�4��
� ������� ��
� �	�
��

���
 ��	��� ���
� �
� �	�� �
������	
�2 � 
�������

�	

�����	
 	� �+2<>. ��� ��������� %�����
 �����

���� �
� B9+2 � �	������ �	

�����	
 	� +2<>) ���

��������� %�����
 ����� ���� �
� �"2 8�����
 �����

���� �
� ��
��
���� 	� �����
�� �	
��� 	��� � 
�������

�	

�����	
 	� �+2<=< ��� ���������2 0�� ����������1

��
�����
� ��
� ���	 ������ ���
� ��� �G �	���� %��

����� ���� ��� 
	� �	�
� �	 ���
�4��
��1 �
A��
�� ���

��
�����
�2

<�;� 0�#2� �� @�$ ,������,����

�
��� �
� A	� �����
���
�� �
	� ��
�� �����

��

��� 	�� 	
%	�
� �I� MMB�%��77 �
 ,>>) �
� 	
�

���� ��

��� 	�� 	
%	�
� �I� MM!�

�
 B�
���77 �


0�%�� =

����������1 ��
�����
� ��������� �	
 ��� �����

'����� ���� ���
��������	
 B9+: �"

��,6,>>( (>2.(< <2===

��(6,>>( ()2.). ,+2;<<

�� D��������� ���
E ()2)). ;2=.9

!B,6,>>; .;2.>. ,+2;(9

!B(6,>>; .;29<+ ;2;)=

!B D��������� ���
E .;2<(< )2>;(

B8,6,>>)� ,>2<.+ (,2<;+

B8(6,>>) (>2,() =2.,;

B8.6,>>) (;2(=) ,,2)<)

B8<6,>>) ..2<)+ ,,2,;9

B3 D��������� ���
E .+2,,= >2<(+

�G,6,>>> .+2++) ;2();

�G(6,>>> .;2;)( <2<.9

�G.6,>>> .;2;(< 92=+>

�G<6,>>> ..2;;+ 92=9.

�G D��������� ���
E .<2)=, 929=>

� 0��� ���� �� �@������ �
	� ��� �
��1���2

0�%�� ;

��������� �	���� �	
 B9+: �
� �"

�	��� 
��%�
 01�� ��������� �	��� B9+: ��������� �	��� �" �3G

�, 0�	6����� ���
�
������ +2)<;)<	8& +2,)(.)	8& ,+92)<

�( 0�	6����� ���
�
������ ��� 0�%�� ) ��� 0�%�� ) >92,=

8, 0�
��6����� ���
�
������ +2)(9,,	8& +2,>=;(	8& .(2.+

8( 0�
��6����� ���
�
������ +2;)>(.	8& �" � )�;. (>2+)

0�%�� )

��������� �	
�
���� ���
� MMB�%��77 �� ��� %���

G	
�
���� B9+: �" ��������� B9+: ��������� �"

B3 8��� 8��� .+2(. ;2,)

�� 3
���
�����
� 3
���
�����
� .+2(. ;2,)

!B ;2=+ 3
���
�����
� .;2). ;2,)

�G <2,) 3
���
�����
� .<2<, ;2,)

,<+ '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



,>>; ��
� �
��1���2 8	�� ��� �
�� �
��� �
� ��� ����


A	� ��
� �
���%�� �
� ��
��� � �	� ��
�
� ��� �����

D?��2 ,+E2

3
 ��	 ������ ���
� ��
� ���
�4��
� �
�
����� �
 �
��

�
��� �
 ��� MM�
�
�
�� �	
�772 3
 ��� ��	 	���
� ���
�

��
� 
	 ���
�4��
� ���
�� �
 �
�� �
���� ���
 ��	���

?��2 ,, �
� ��� ��������� ��
��
 
��
����	
 �
������ �

���
����2 ��� 4��
�� �
������ ���� ��� ����
 A	�

���
����� ���
 ��� �����
�� ������ ��� �
��

D?��2 ,,E� �
� ��
�� 	� ��� 
��
����	
 ��
�� ��� ���6


�4��
� 
������� 
��
����	
 �	��4���
�� D0�%�� ,+E2

0�� ����
 A	� ���
����� �
	� . �	 9 �
	�� ���


?��2 ;2 ����������1 ��
��� �	
 ��� �
�������� ����� D%
	��
 ��
��E2 �	��� ��
�� �� ��������� ���
 ����������1 ��
�� �	
 ���� 	� ��� �	�
 ��
��1��

D�E ��6,>>(- D%E !B6,>>;- D�E B36,>>)- D�E �G6,>>>2

0�%�� >

B�
��
 
��
����	
 %�����
 ����� ����� ����������1 ��
�����
� �
� ��
��
���� 	� �����
�� �	
��� 	��

B�
��
 
��
����	
 ��������� ����� ���
��
� �

	
 �6'���� �������� 
( � DRS�SE

3
��
���� .92(>9 ,2)..+ ,>2(99 +2(<() � � +�+9

B9+: +2+++ +2+++ �,2=>> +2,(.=

3
��
���� =2(., ,2(,( 92,<. +2(<;9 � � +�+9

�" +2+++ +2+++ ,2;(, +2,,><

3
��
���� .=2<.) ;2=9; <2;9> +2(,9, � � +�+9

C�
��
� �	
��� 	�� +2+++ +2+++ �,29;+ +2,9+)

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,<,



?��2 )2 ��������� ���
 ����������1 ��
��� �
	� ��� �	�
 �	����� D�E �, D��	6�����ET������
� 
	 ������ ������- D%E �( D��	6�����ET���������

���
 ��
��� �	
 ���� ��
��1- D�E 8,D��
��6�����ET������
� 
	 ������ ������- D�E 8( D��
��6�����ET���
� ������ �� � 
�
�	� ������2

0�%�� ,+

B�
��
 
��
����	
 
������ 	� �
�� �
��� �
� ����
 A	� �
 ��� MM�
�
�
�� �	
�77

&��� B�
��
 
��
����	
 ��������� ����� ���
��
� �

	
 �6'���� �������� 
( �6'����

B3,6,>>) 3
��
���� .<2+=< +2<>9 =)2),( +2()9< Q+2+9

!
�� �
��� +2+9. +2++> 92)=+ Q+2+9

3
��
���� (2(>= +2+(9 >+2)() +2)<>; Q+2+9

P���
 ��	� �+2+,+ +2++, �((2+<> Q+2+9

B3(6,>>) 3
��
���� ,)2),. +2.<. 9<2)9( +2(;,= Q+2+9

!
�� �
��� +2+(=; +2++. )2,;+ Q+2+9

3
��
���� .2)+> +2,,. ..2=9( +2.>.9 Q+2+9

P���
 ��	� �+2+,( +2++, �,+2;;= Q+2+9

B3.6,>>) 3
��
���� (<2)=, (2(>+ ,+2)9) +2+>9= Q+2+9

!
�� �
��� �+2.9+ +2<+; �+2)=+ +2<,)(

3
��
���� 92,;( +2<.< ,,2>,+ +2;=++ Q+2+9

P���
 ��	� �+2.=. +2+;; �<2;+) Q+2+9

!B,6,>>; 3
��
���� (>2=;( ,2.,+ ((2=9+ +2+>+) Q+2+9

!
�� �
��� �+2,>; +2(;) �+2;+; +29,,<

3
��
���� <29<; ,2((< .2;,9 +2+,+) Q+2+9

P���
 ��	� �+2+== +2.,< �+2(+> +2)<<=

,<( '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



?��2 >2 G���� ���� ��	���� ��
��� ����������1 ��
�����
� �
� ��
��
���� �	
��� 	��2

?��2 ,+2 !
�� �
��� �
� ����
 A	� �����
�� %1 ��� ���
��
 !
�� ��
�	
� D�E B3,- D%E B3(- D�E B3.- D�E !B,2

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,<.



?��2 ,,2 B�
��
 
��
����	
 	� �
�� �
��� �
� A	� 	� ����
 ��
	��� ��� �
�� ��
��� ���� �
 ��� �
�
�
�� �	
� 	� ��� �
��� ����� D�� %E B3,- D�� �E

B3(- D�� �E B3.- D�� �E !B,2

,<< '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



�
����
� ����	�� 4�� �	 ,F( �
	�� ���
 ��� 4�� ����

��
	��� ��� �
��2 3
 ��� ��	 ����� B3, D?��2 ,,� �
� %E

�
� B3( D?��2 ,,� �
� �E� ��� ���� ��
� 
��	
���

���	��������12 3
 ��� 	���
 ��	 ������ ��� ���� �
�

��
����1 
��	
���� �
� ���
� �� � �	
��
 �����
��

%�����
 ��� �����
���
�� D?��2 ,,�F�E2

�	 ����������

0�� �������	
 �
	��
���� 	� �
���� ���� 
���
� �	

%	�� 4�� ������� �
� 4�� ���� ���� %��
 �
����1

���
	��� %1 ��� �
�
	�����	
 	� 
���� �	
��
� �
���

D'������
��
 �
� 3�����
� ,>><- B�
��
 �
� 3�����
�

,>>.E2 3
 �	���
��	
 �	 ���� �������	
 ��
	���

������� ��� �������	
 ��
��� 	� �������	
 �
��� �
�

������
 ���� � 
�

	��
 �" D'������
��
 �
� 3�����
�

,>><E2

P� ���� ������ � ��
���6�
�� ����6�������	
 �1����

�	
 ������� �����
�� �
����2 0�� ������� �
��� 4���
1

�	
 �����
�� �����
� �
	� ��� %	��	� �
��� 4���
1 �	


���	��� �
 ���� ���
� ��1 %� ��
1 ��
�� ������� �
 �

��	
� ���� ���
 ���		�� 	� �����
�� �
� ������2 3


�	�� 	� ��� ����� ���
� ��
� ������� %�����
 ,++ �
�

(++ � 	� �����
��2 0�� ���� ��
���	
 ���
 ��� ����6

�
�� �
��
�� ��� �
��� ��� ������1 ��	
�� �
	� � ���

��
���� �� �	 .+ ��
2 �
� 	� 	�
 ��
����
��� K���6

��	
� ��� �� �� ��� �	���%�� �	 �	
� ���� ��
�� ��	�
��

	� �����
�� ��
	��� � �	
��
� �
�� �1���� �
 � ��	
�

��
�	� 	� ����2 3
 ��� ��B�30"� D��������� ���6

����
 �
����
�E �
	 ���� ���1 ��� 4
� ��
�� ������� �	

�	
������� � 
��� �
	%��� D��
 ��
��
� ,>>9- ��


��
��
 �� ��2� ,>><E2 0�� 
������ ��	� ���� 
��
�1

(+: 	� ��� �����
�� ������ �
 	�
 �@��
���
�� ��
�

�	
��� 	��2 0�� �
�� �1���� ���
��	
� ������ �	

��
���	
 ���� ���
 �	
��
� ���� ��
�� ��	�
�� 	�

4��2 0�� ���������
��� 	� ��� �
�� �1���� ��� ���	

%��
 ������ 	
 ������
 4��2 &�
�
� ��� �@��
���
��

��

��� 	�� 	
%	�
� MMB�%��77 �
 ,>>)� ,.+ � 	� ��

�
�

��
� ������ �
 	
� ����2 0�� ���� �
	� ���� ���� �
�


	� �
��1��� �
 ���� ����
� %�� 
��
�1 <9: 	� ���

��

�
� ��� �	
��� ��
	��� ��� �
�� �1���� �
 	
�1

(9 ��
� �
������
� ���� ��� �
�� �1���� ����������1

�	
�� 	�� ����� �
��������� �
 ��
�� �������2 8�� �� ��

����� �����1 ���� � �		 ��
�� ��	�
� 	� �����
�� ������

�
 � ��
1 ��	
� ���� ��1 ����� � �	
��
�
���	
 	�

�����
�� �
 �
	
� 	� ��� �
�� ���� ����� MM%�	��77 ���

�������	
2 � �
�� ��
�	
 ���� ���
��	
� %� � ������ �
�


������
1 �		� �	 �
������ ���
 ��� �����
�� �
�

�����
� ��
	��� ��� �
��� �
� ������
 ���
� �� �		

���� 4�� �
 �
	
� 	� ��� �
��2 B������� �� �� �	���%�� �	

���� ���
 ��� ��� 4�� ���� ������ ��� �
�� �
� ���

�����
� ��
 ���
�2

�
	���
 ������ 	� ����� ��
�� ��	�
�� 	� �����
��

�	�
� �
�	 ��� �
��� �
 � ��	
� ���� ��1 %� ���� ���

�
�������� 4�� �
� 
	� �
 �	
���� ���� ��� �
�� �
� �
�

���� 
	� ��������2 3� ��
�� ��	�
�� 	� �����
�� �
� 
	�

�
 �	
���� ���� ��� �
��� ���� ��1 
����� ��� �����6

����
��� 	� ��� �1����� %�� ��� 
������ �
������ ���� ���

�
�� ��4���
��1 �	
�� 	�� �����
�� ������
 ���
 <++ �

�
	� ��� ����� �
� ���� �
�
����� ��� �
	�	
��	
 	�

��
��
 �
��������� �
 ��� �������2 0��
� �
� ���
�4��
�

�����
�
��� �
 ���� %�����
 ��� 4�� �	
��� 	�� �
� ���

4�� 
����
�� �
 ��� �	��
� �
 ��� ������ ����� ���	

���
� ���� ��� �
�� �1���� ���
�4��
��1 �
�
����� ���

����� 	� ��� �����2 3� �� �	���%�� �	 ��� � �����
 
��� 	�

�������	
 �
� � ��
���
 �
�
����� ����� 	� ��� ����� %1

���
� � ����
 %�
 �����
�� %�� ���
 ��� ����� ����� ����

%� 
������ �
� ��� �	��
� ���� ���� %� �@��
��� �	

����� ��� ���� ��	�
� 	� �����
��2

0��
� �
� 
��������1 ��
�� ��
����	
� %�����
 ���

��������� ����������1 ��
�����
�� %�� ��� ���������

������ �	
 �" �
������ � 
���	
�%�1 ���
� �������	


�
 �	�� 	� ��� �����2 0�� �" ��
��� %�����
 ,, �
�

<.: �
 �
	�	
��	
 	� ��� B9+� ���� � ���
 ����� 	�

(<29:2 � 
��� 	� ����% �
	� %	��	� �
����
� �	


���	��� �� ���� � ����� 	� ��� �" 	� (9: 	� ��� B9+ ��


���
��� �� � �		� �������	
2 0�� ��
����	
 �
 ���

��������� ��
�����
� ��1 %� � 
����� 	� ��� 
����



�

	� ��
��� ����
�%���	
 �
 ��� �������2 0�� �
��	
�

������� ��
�
� ��
�� ���
�
� �
� �
����
� 	
 ���		�� ��

��� �	 
���
�� �������	
 �����
���� ���� 
���
� �	

������� �
� ���� ����
�%���	
 �
 ��� �	
����	
 	�

���		�� DC�����
 �
� C�

���� ,>>.E2 ��������
� ���

�������	
 ��
�� �
	� � 
�

	� ��
��� ����
�%���	
 ��1

����� �
	%���� ���
 4���
� ��� �������	
 ��
��� �	 ���

����� �
� ���� � ���� ��
����	
 �
 ��� ��������� �����6

��	
 ��
�����
�2

&�� �	 � �	��� 	� 	
�1 ,( ����� ���
� �
� �	��

��������	
� �
 ��� ���� ���
 ��������
� ��� �	�
 ���6

��
�
� �	���� ���� �
� �
���
��� �	 �@��	
� ��� �	��
6

���� ������ 	� %�
 �����
� �
 ��� �
�� ��	
 ����������12

0�� �@��
���
��� �����
 �� �
%���
��� �
� �
�	�6

������ �
� ��� ���� %�
 �����
� �� 	
�1 
������� �
 ��	

�@��
���
��� �
��� D�	�%�
���	
 	� ������� ��
��1 �
�

1��
E �
� 	
�1 �	
 	
� %�
 �����
�2 /	 �@��
���
���

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,<9



�
��� �	��
 �	
� ���
 	
� %�
 �����
�� �
� ���
� ��

�
�K��� 
��%�
 	� 
�������	
� D�����E �����
 ���

�@��
���
��� �
���2

0�� �@��
���
��� ���6�� �� ���
�
������� �����


������ �
 ���������� ����2 0�	 	
 �	
� ����� �
� ����


���� ��� ���� ���
2 0�� ���
 �� ������ ��
�
� �	�


��
��1�2 �
 ����� �����
 �	��� ���� ����
�� ���


�1��� D�2�2 %�
 �����
��E �����
 ���� ������2 ����

������ �	��� �	
���� ����
�� ��
��1� �����
 ����

1��
2 ���
 ��	��� ���� �	��� ���� %��
 �
 �

��������

�
� �@��
���� �����
� ���
� �
� ��	 �	�
�� �	 �����

���
� �
� �������� �	�
��� 	� ��
����	
 D�����
6�����

%�����
6����� �����
6��
��1� %�����
6��
��1 �����
6

1��
� %�����
61��
 �����
6��
��1� %�����
6������E�

�
� ��� �	�
��� 	� ��
����	
 
����� �
 � 
����� ��
��6

��
�2 8�� ���� ��� �
���
� �����
 ���
� �� 	
�1 	
� ���


�1�� ������ �� ���� ��
��12 0��
� �
� ��
1 ��� �����

�����
 ���� �
�� D(F<E� ���
� �� 	
�1 	
� �
�� ���� ����

������� �
� ���
� �� 	
�1 	
� ������ �����
 ���� 1��
2

0�� ����	
� ������ ��
� �
� ��� �	���%�� ��
�������

�	
 �	�
��� 	� ��
����	
� �
� ���
� �� 
	 �����
�� �	

����	
� ��������	
� 	� 
������%�� �������2 �@���� �	
 �

��
��� 	��
��� %�����
 	
� ����� 	� ��� ���
 �1�� D8&

.) ��E �
� ��	 �������� ���
� �� 
	 �
�	
����	
 �
 ���

���� �	 �
�� �
��
�
�� �
	� ���� ��
����	
2 ���
� �
	�

���� ��
���� 	��
���� ��� ��
����	
 	� �
��
��� D����
6

��
�1 	� 8&E �� �	 � ��
�� �@��
� �	
�	�
��� ���� ���

�
�
	�
 
�
�	� ��
����	
 D%�����
6�
��� %�����
6

1��
� %�����
6������E2 0�� 	��
��� ���	��� �	����
�

�	
 �	�� ��
���� �
��
�
�� �
	� ��� %�����
6������

��
����	
� %�� ���� �� ��% ��� �	 ��������	
�2 0��

��������	
� ��1 %� ���� ���
� �� 
	 %�����
6�
��

��
����	
� 
	 %�����
61��
 ��
����	
 �
� ���� ��� 	��
6

��� �� 
��
���
������ �	
 ��� %�����
6������ ��
����	


�	
 ��� �������2 0���� ��������	
� ��

	� %� �������2

0�� ���� ����	
� 	� %�����
6���� ��
��
�� �
� ���

�%	��6��
��	
�� �	
�	�
��
� �	��� ���
��	
� �����

�	 �

	
�	�� �	
�����	
� �%	�� ��� ���
 ������ ���
 ��

�� �
 ����� �	
 �@������ � ������ ������2

���	�� ��� ����� ��� ��
1 ��
�� ������� ���� �

�����
 	� =9 �2 G	
��K��
��1� 	
�1 ��%������� ��
�

�����
��2 0�� ��%������
� �
����	
� 
�
��� �
	�

+2+> �	 ,++:� ���� � �����
 	� +2):2 0�� 
��%�


	� 4�� �����
�� ������� ��
����1 ��� �����
6���� ��
6

����	
2 3� ���� �	�
�� 	� ��
����	
 �	��
���� � �
	��6


�
� ��
� 	� ��� �	��� ��
����	
� �� ��1 ������ ��� �%����1

�	 ������ ������� 	� �
��
���2 3� �� �
����
 ������
 ���

�	� ������
� 
���	� ���� ��
� �
� �		 �����2

?	
 �	��� �,� ���
� �
� ��	 �	
��

�2 ?�
��� ���

�	��� �	�� 
	� 
�A��� ��� �
�� 
����� ������
� ��
��6

��
�2 3� �
���
�� ��� ���� �� �	������� �
	� 	
� �
�� ����

	
� ������ �
� ���� � �	
����
�%�1 ��
��
 ��	�
� 	�

����� ���
 ��
� ����
 ���� �
1 	� ��� ������ �
���2 0��

��������� %�����
6���� ��
��
�� �	�� ���
��	
� 
	�

�����
����� %�����
 ��� ������� �
� �� �
��
���������2

���	
�� ��� �	��� ������� ��
��
 
�����	
� %�����


B9+ �
� 8&� �
� %�����
 �" �
� 8&2 0��� ����� %� �

��%�	�� ��������	
� �
� ����

����� 
�����	
� ����� %�

�	
�� �	
����
�
�2 0�� �	� 
��%�
 	� 8&� �
	������

�	����
� ������ ����	
� �	
 �
1 ��
���	
�� 
�����	
�2

0�� �	�� ���
	�
���� ��	��� ����� ���
��	
� %� �	

�
��� 8& �� � ����	
 ���� ��
�� ������2 0�� 4
�� �	
��



�	
 �	��� �, ���	 ������� �	 �	��� �(2 3� �� 	� �
��
���

�	 �������� �
� �	���
� ��� ��	 �	���� ��� �	 ���

��
�� �@��
� 	� �	
�	�
��
� %�����
 ������ �
� ������

����� 	� 8&2 3
 	���
 �	
��� �	�� ��� ����������1 ��
1

��� �	 �����
�
��� �
 8& 	
 ��� �	 �����
�
��� �


�������U � �	��	
 ���
	��� �	
 �	���
�
� �	����6

�
� �	���� �� %1 ���
� ��� �3G ���������� D*	
��� ,>>.E2

0�� �3G ���	�
� ��� �	��� ���� ��� �	���� �3G �����2

&������ ��� 
������ �
	� �	��� �,� ��� �	���
��	


�
������� ���� ���
� �� �	
� �
�	
����	
 �%	�� ���

����������1 �
 ����� ������ ��� ���� ��
� �	�������

���� ���
 ���� 8& ��� ����2

P��� 
���
� �	 �	��� 8, �
� 8( �
� ���� ���

�
������	
� ��
��	
�� �
 ��
�� �� �����
� ���� ���

��� 	� ������ �
�	
����	
 �
���
��1 �
A��
��� ��� ��1

��� �" �� �	������2 ?�
���
�	
�� ��� ��	�� 	� ���


��
����	
 	� B9+ ��	
 8& �� ����
����� �
 8(2 0��

B9+ �� ������
 �
 8( ���
 �
 8,� ���
��� ��� �" ��

��
��
2 ?	
 � 8& 	� <+ ��� B9+ �	�� �
	� ..2+ �	

.,2= �� �
� �" �	�� �
	� ;2); �	 )2;. ��2 0�� �3G

���	�
� ��� ���	
� �	���2 ������
 �	 �	��� �(� ���

�
�����	
 	� ������ �
�	
����	
 
��	��� �
1 ������ 	�

8& ��	
 ��� �"2 0��
� ��� �	����
� � ��
����
���

�����
�
�� %�����
 ��� ��1� ��� ��	 �	���� �
�����

������ �
�	
����	
2

0�� ��	6 �
� ��
��6����� �	���� ��

	� %� �	�6

��
�� ���
� ��� �3G ����������� %������ ���1 �
� %����

	
 �����
�
� ����2 8��� %	�� ��� ��	6 �
� ��
��6�����

�	���� �
1 �	 ����
�%� ��� ��
�
�� �������	
 ����


���
� �	 ��� ��
����	
 �
 ��� ��
�����
� D������� ������

�
����� %�
 �����
��E2 3
 �	���� �( �
� 8(� ���
� �� �

�	��� 	
 ������
� ��� �
A��
�� �
	� ��� %�
 �����
��2

0�� ��
��6����� �	��� D8(E �� ���	
�������1 ��� �	����

����
�%�
� ��� �@��
���
�� �	�� �	

����12 8�� �� ��

,<= '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�



���	 ��� �	��� ���� 
���� ��� ��
���� ��	�
� 	� ����2 3�

��� ���� �
� �
���4���
� �	
 ���� �1�� 	� �
��1���� ���


������ %��	�� �
��
���
2

0	 �����
��� ��� 
������ �
	� ��� �	����� �� �����

���� ��� ����� ���
�� �
 %�
 �����
�� D8&E ��� ������

�
A��
�� 	
 ��� �������	
 ��
�����
�2 0��
� �
�� ��

�@������� �����
�
��� �
 B9+ %�����
 ��� ��
�� 8&��

%�� ���
� �� ���	 � �����
�
�� 	� 	
�1 < �� �
 8&

%�����
 ��� �
�� ���� ��� ��
���� �
� ��� �
�� ���� ���

�������� 8&2 0�� �" �� ���� �
A��
���� ���
 ��	���

����� �����
�
��� ��
� ��������� %1 �	���� �, �
�

8,2 ?	
 �	���� �( �
� 8(� ��� 8& ��� 
	� �
A��
��

��� �"2 ��� �	���� ���� �
������	
� 	� � 
���	
�%�1

���
� �������	
2

0�� �
A��
�� 	
 ��� ����������1 ��
�����
� 	� ���

����� ���� �� ������2 �������	
 �
 � ����	
�6������

�	��
� �� ��
������ �	 ����� ���� D3�����
 �� ��2� ,>)>-

C	��� ,>;9E� %�� ���� �������	
 �
 �
��� �
 �
	
� 	� ���

�	��
� �� ���� ��
������ D'������
��
 �
� 3�����
�

,>><E2 /	 ���
�4��
� ������� 	� ����� ���� ��
� �	�
�

	
 ��� ����������1 ��
�����
� %1 ��� �G �	��� 	
 %1

��
��
 
��
����	
 %�����
 ����� ����� �
� ����������1

��
�����
�2 8�� ���
� �
� �
������	
� 	� � 
������ B9+�


������ ��
��
���� 	� �����
�� �	
��� 	��� �
� �


�
�
����� �" ���� ����� ����� %�� �� �� �
����
 �� ���

����� ��	�
� 	� ���� ��1 ���� �������� ��� 
������2

!
�� �
��� �
� ����
 A	� ���� �����
�� %1 ���

���
��
 �
�� ��
�	
 ��
�
� �	�
 ����� �
� �
���
����

�
� ��� �
��� �
� A	� 	� ����
 �
 ��� �
�
�
�� �	
�

�
� �
��1���2 0��� �� ��� ��
�	� 	� ���� ���
� ���

�����
�� �
� �
��
�
� ��� �
��� ���� ��� ���� 
�����

�	
 ��� �����
�� �	 ���� ��
	��� ��� �
�� D��� �������	


�����E2 &�
�
� ��� ��	 4
�� ����� �
���
��� DB3, �
�

B3(E� ���
� �
� K�����������1 �		� ���� %������ ���

���� ��
� �	���� ���	��������12 ���
�4��
� ���
���

�
 %	�� �
�� �
��� D�
�
�����E �
� A	� 	� ����


D���
�����E ��
� �	�
� ���
 ��� �����
�� ��
�

�����
� ��
	��� ��� �
��2 3
 ��� ��	 ���� ����� �
��1���

DB3. �
� !B,E� ��� 
��%�
 	� ���� �	�
�� �
� ������

�
� ���
� ��
� 
	 ���
�4��
� ���
��� �
 �
��� 	� ���

�
��� �
� � ���
�4��
� ���
���� �
 ����
 A	� �
 	
�1

	
� 	� ��� ����� DB3.E2 0��� ���
���� �
 ����
 A	�

�
������� ���
 �����
�� �
� �����
� ��
	��� ��� �
���

������
 ���
� �
� �		 ���� 4�� �
 �
	
� 	� ��� �
���

�
� ����� ���
 ��� �������	
 ����� �� 4
����� �
�

�����
� ��
 ���
�2

� �
������ �	
��
��
� �	
 ���������	
 	� ���� ����
	�6

	�1 �� ��� ��
����� 	� ��� 4�� ���� ������ ��
	��� ���

�
��2 �@��
���
�� ��	��� ���� ���	���� ���� �� �	��

����	��� �
� ������� ��
���� ���
 ���1 �
� �	
���

��
	��� ������ �
� ��
	��� � �
�� �1���� D*��	%��


�� ��2� ,>>(- �	���� �� ��2� ,>>.E2 0�� �������	
 ��

�����
�
� �	
 ������� ���		��
� ��

�
�� ���
� ��
�����

�@��
���
�� ��	��� ���� ���1 �
� ��
1 ��
������ �	

��1����� �	
���� ���� ��� 
�� �
 �
����� �
� � ����

�	
�����1 ��� 	%��
��� �	
 ����� ��

�
� ������
�

��
	��� �
��� ������ 	
 ��
	��� �	
��
� �
��� �
 �
����

D���
	
�
 �� ��2� ,>>=E2 �@��
���
�� ���� �����
��

��	��� ���� ���� ������� ����� �����
 ���� �	
�����1

���
 �
	���� �
�	 ����� 
�� ����� DB	���		� �� ��2�

,>).E2 ��
����� �@��
���
�� ��

��� 	�� �
 �@��
�6

��
�� ���
� � �������	
 �
�� �
 � ��
�� ���
� D����
�

�
� 8��������� ,>><� (+++- 8�������� �
� ����
��

,>>=E �����
�� � ��
����� 	� >9: �
 ��� �	
�
	� �
	��

�
� ��@�����1 =+: ��
����� �
 ��� �@��
���
���

�
	��2 0��� �
������� ���� ��� ����6�������	
 �
	����

�
 �����
�� ��
�� ���
�
� ������ �		 ���� � �	
�����1


��� �	 ���	� �� �	 %� 
��	���
��� �	
 �	���
����

4���
�2

0��
� �
� 
���	
� �	 %������ ���� ��� ��
����� 
���� 	�

�	
��� �����
�� �
 �
���� �
� %����
 ���
 ��� ��
����� �


��� ��
�� ���
� �@��
���
��2 3
 ��� ��
�� ���
� �@��
�6

��
� D����
� �
� 8��������� (+++E� ��� �����
��

�����
�� ����
� ��
��� �
� ���
 �
 �
��� ��
�
� ���

�������	
 �
	����2 �����
�� ������ �
 � ������� �
���

��1 
	� %� �	
4
�� �	�����
 ���� �
 � ��
�� ���
�� �
�

�� ��� �����
�� �
� 
	� �
 �	
���� ���� ��� 
�� ��
��

���1 ��1 
	� �����
 �
	� ������ 	
 ��� ���
 �	 ���

���� �@��
�2 $	����
� ���
 ������
� ��
�� ������� �


� ��
1 ��	
� ��
�	� 	� ����� ��� �����
�� ��1 ���	 %�

�	
4
�� �
���� ��� �
���� 
������
� �
 �	
���� ���� ���

��

	�
��
� 
�� ��
���2 ���	 ��� 
������� ���� �	��
�

����� ��1 ��
� ��� 4��2 &�
�
� �����
� 	
� ��� �	

�
�
���� ��� ����� �	 �
���
� ��� 4�� �
	� �	�
�

�	
��
� �
 ��� �
���2 0	 ���� ��� 4�� �	�� �
	�

��� 	��
�
� 	� ��� �
��� �	 ��� %��� � �	��
� ����� 	�

�	
� ���
 < �
	�� �� 
�����2 0��� ��1 ���� �	 �@�����6

�
� ��� 4�� �
� ��%��K��
��1 �	 � ���� �	
�����12

0���� �@��
���
�� ��	� ���� �� �� �	���%�� �	 ���

�	
��
� �
��� �
 ������� �����
�� �
��� �	 �	
� 	��

����� �
��������� �
� ���� �
�
���� ��� ��	
	���

����� 	� ��� �������2 B�
�� ������� ���� %��
 �	
���

��
	��� ��� �
�� �1���� �
 
��������1 � ��	
� ��
�	� 	�

����� �
� �������%�� ��	�
�� 	� ����� 4�� �
� �	
���

	��2 8�� ��� �	�� ��
����
��� K�����	
� ����
 ��	��
�

���� �� �� �	���%�� �	 ��� �	
��
� �
��� �
 �����
�� �
����

'� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;� ,<;



�
� ��� ��
����� 	� ��� �����
�� ���� �� �	
��� 	��2 3


	
��
 �	 K��
���1 ��� ��
����� �
� �	
�����1 	� ����6

�
�� �	
��� ��
	��� � �
�� �
���� � �����
�� �
���� �� ��


������
1 �	 ��

1 	�� ��
���
 �@��
���
��2

��������
�������

P� �
� �
������ �	 ��� ������
 	� �I' MM!�

�


B�
���77� �
2 !�

�
 B�
���� �
� ��� �
�� ����

��

��� 	�� ��� ,>>; 4���� �@��
���
��� �	 ��� ������


	� �I' MMB�%��77� �
2 � ��� "�
� /���	1� �
� ��� �
��

���� ��

��� 	�� ��� ,>>) 4��� �@��
���
��� �
� �	 ���

������
 	� "I' MM��	���77 �
� ��� �
�� ��	 ��

��� 	��

��� ,>>> 4��� �@��
���
��2 P���	�� ��� ������� ���� 	�

����� ������
� �
� ����
 �
���� ����� �@��
���
��

�	��� ���� %��
 ���	���%��2 0�� �@��
���
�� ��
�

����	
��� %1 � "����
�� !
�
� /	2 ,.+)(+I,(, �
	�

��� "����
�� G	�
��� 	� /	
��1 �
� ��� ��
���� �
	�

��� /	
�����
 &�
���	
��� 	� ?����
���2

����������

�
	
2� ,>>=2 ��
��� 	� ����	�� 	� �����
�
� ��� ����������1 	�

�	��� 4���
� ���
�2 3G�� G		�2 "����
�� "��	
� /	2 (,92

8��������� �2� ����
�� �2�2� ,>>.2 �	
��
� 	� �����
�� %1 �
���

�
 ��
�� ���
�� �
� �
���� D�
 /	
�����
E2 ?����
$��2 )�

(, ��2

8��������� �2� ����
�� �2�2� ,>>=2 ��
����� 	� �����
�� �
� ������

������
� ��
	��� �	
��
� �
��� �
 ��
�� ���
��2 3G�� G� ,>>=I

8� (<2

&������
� �2C2� B��
�� /2�2� "�%�
� &282� ,>;;2 ��@����

�������		� ���� �
�	������ ���� ��� ��� �6� ���	
����2 *2

"	12 �������2 �	�2 ��
2 8 .>� ,F.)2

?
1�
� "2*2� ,>>,2 � �	��� 	� %�����
6���� ��
����	
 �
 ����������12

3G�� *2 ��
2 ���2 <)� (),F(>+2

3�����
� 82� B��	���1� �2� ����
	� '2�2� ,>)>2 � �	���
��	
 	� ���

����������1 �
 �	� �
�� ���� %1 ��� �	���� �
� /	
�����


�
����
 A��� �
 ��� 8�
�
�� ���2 3G�� G� ,>>+I8� 9,2

3�����
� 82� !����� �2� ��������� �2� �@����
� 82� ,>>)2

G	���
��	
 	� ����������16 �
� ���
 �
	��
���� %�����
 �	
�6

L �
� ��
��� �
�� �	
 ��	6��
�� %	��	� �
��� �	
 �	� DA� ��

,�����E2 3
� C
	�����
�� 	� ��� 3G�� ?0?8 P! �����
�� B�

G	
�
�� ��
�� ,>>)� ; ��2

*��	%��
� *2�2� 0	���	
� 82� 3�����
� 82� ,>>(2 ��
����� 	� ������

D��22������ ������ B2E ������
� ��
	��� �
��� ������2 3G��

G� ,>>(I8� (>2

*	
��� "2$2� ,>>.2 B	
������
�� &��� ���� ��
��� G	

�����	
� �

�����6����� ���
	���2 G�����
 V $���� B	
�	
2

��������� �2� ����
�� �2�2� !����� �2� ������� "2� ������
��
� 32�

'��
���� $2� ,>>)2 ���� ����������1 �@��
���
�� ���
� �	
��
�

�
�� �
 ������� �����
�� D&��,/�� ���,/���E �
���2 3
�

C
	�����
�� 	� ��� 3G�� ?0?8 P! �����
�� B� G	
�
�� (+F

(. ��
��� ,>>)2

B��
�� /2�2� P�
�� *2$2� ,>)(2 "�
�	� ������� �	���� �	


�	
������
�� ����2 8�	���
��� .)� >=.F>;<2

B�
��
� "282� 3�����
� 82� ,>>.2 ���� ����������1 	� 
���� �	
��
� �
��

�
 %	��	� �
���� �	
 ����
��� �	� DA� �� ,�����E �
� ����	��

D
�2���#��,,�� ��#2�B���E2 3G�� ��
2 ���2 �1��2 ,>=� ,;)F

,)(2

B	���		�� �2� C���	
� �2!2� ���	
� &2"2� ,>).2 0�� ������� 	�

�
	���
� �
 �����
�� D&��,/�� ���,/��� B2ET��1�����

�	
����	
 �
� �	
�����12 ?��� "��2 (� ,(>F,<;2

�����	��� ,>>>2 �6CB5� (+++ 5��
7� !����2 &��� �
��1���

C
	����� &�����	
� �����	��� �������� P�2

�����
� "282� ,>>,2 ��������	
 	� ��1����
�� �������	
 ��
��� �	


�
����2 3G�� G� ,>>,I8� 9=2

�����
� "282� ,>>(2 ��������
� ��� ����6����������1 	� 4���
� ���
 %1

�	
����	
�
� 	
 ��� �	��� �����2 *2 ��2 �������2 ���	�2 ); D<(+E�

>=(F>=)2

�����
� "282� ,>><2 ������
� �
	� �
��� ���
� ���� �
 ����

����������1 �@��
���
��2 3G�� *2 ��
2 ���2 9,� (>.F(>)2

�����
� "282� ?
1�
� "2*2� ,>>>2 ��������
� ��� ����6�������	
 ��
���

	� �	��� ���
�� �
���� 
��� �
� �		��2 "��2 ?��� 8�	�2 ?���2 >�

,F()2

����
�� �2�2� 8��������� �2� ,>><2 ����6�������	
 	� �����
�� �
�

������ �
 ��
�� ���
�2 3G�� G� ,>><I8� ()2

����
�� �2�2� 8��������� �2� (+++2 ��
����� 	� �����
�� �
� ������

���� ������� ��
	��� �	
��
� �
��� �
 ��
�� ���
��2 ?���2 "��2 <)�

.,F<,2

C�����
� 02*2� C�

���� *2�2� ,>>.2 ?�
���	
� 	� ��	���
� %�����	�
 �


����	���2 3
� C�����
� 02*2 D��2E� 8�����	�
 	� 0���	�� ?�����2

G�����
 V $���� B	
�	
� ��2 .=.F<.>2

C	��� *2�2� ,>;92 ��
��� 	� ����	�� �	
 4�� ��	�� ��������
�2 3332

����������1 	� 4���
� ���
2 ?�� ?����
��� 0���
���� C���


/	2 <,2

�	����� �2'2� �
����� �2� 3�����
� 82� ,>>.2 ��
����� 	� ���	���

���� ������ �
	� � ����
��� �
���2 3G�� ��
2 ���2 �1��2 ,>=�

,((F,(;2

�����	��� ,>>92 �0�03�03G� �	
 P�
�	�� DG	�����
 C
	�
��

��
���E2 �����	��� 3
�2� 0����� ��2

���
	
�
� C2� C�
��6G	���� *2�2� B���	
�
� �2� 0����

� � '2� ,>>=2

����6
������ �	
�����1 	� ��

�
� D�2���� �����#�� B2E ������
�

��
	��� � 
���� �	
��
� �
�� �
� �
��� �	��
� ������2 3G�� *2

��
2 ���2 9.� =>,F;++2

'������
��
� *2P2� 3�����
� 82� ,>><2 81����� 
������	
 �
 �
����

%1 �������
� %�����	�
 �����
�
���2 3
� ?�

	W� �2� ����
� �2

D���2E� ��
�
� ?��� 8�����	�
 �
 G����
� �
� �%�
��
��

��������	
2 ?����
� /��� 8		��� B	
�	
� ��2 =>F).2

��
 ��
��
� 82� ,>>92 "���
� �����	���
�� �
 ��������� ���6����


�
����
�2 �G6�
	 ��� 0�6.6=,. D��B�30"�E2 3G�� G� ,>>9I

8�!�$�*��� 92

��
 ��
��
� 82� B�
��� �2� P�
���� G2�2� !����� G2P2� ����
	��� 82�

,>><2 3
��
������� 
������ �
 �G6�
	 ��� 0�6.6=,. MM���
	���

������� �
� ���� ����������1 	� ���6����
 �
���� D��B�30"�E772

3G�� G� ,>><I8� ,.2

O�
� *2$2� ,>;<2 8�	����������� �
��1���2 C
�
����6$���� �
����		�

G������ /*� =(+ ��2

,<) '� '��2���- �� �2� 7 ��������� 
������� "( 86��69 �6(:�;�


	Size selection of large catches: using sorting grid in pelagic mackerel trawl
	Introduction
	Material and methods
	Fishing trials
	Data analysis
	Describing the selectivity using different models
	Two-level hierarchical models
	Model A1
	Model A2

	Three-level hierarchical models
	Model B1
	Model B2


	Results
	Catch data
	Selectivity results and models
	Catch-size-dependent selectivity
	Angle and flow measurements

	Discussion
	Acknowledgements
	References


